EAGRAROBREERT — 2 N— IBISH —F

202158 A3H (X) 7TEAFH2H

YAl & 2% 3m® 6 3K L1 247K

‘ [Riz] ¥ ‘ [REBE] — | & (£) 12000 4=

[A~&£] 1 7% :1,600,000  ~ 23 :640,000 @ 3 7 :400,000 §

4 7% 240,000 F 5 3& 160,000 M

& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
o X 4 3 | PHIE 1:14.7 5-5 37.8 — 1 451 | EREIME (KFH)
11813 truF 54.0 (-) (+6) B
LA LIS Ry IR BRI A> ADAE—FRF—T I
S S HBXH 1:15. 1-1 gl = 2 4 BHEEIL (/)
2@ 10| ¥—7AEY K S o) o’ ® o 207
LTV RT74 977407 — BNATA hINT— Y% —Hi5
—: B3 | EEE 1:16.2 12-8 38.4| — 13 | 417 |$AE (K3
3|5|8| PNT—F %53.0 3 1/2) Loy | ) MMC
R:N—H/NK B:x4/3230 AAYELRT7—L
. 3 | MEfEE 1:16.4 6-6 39.4| — 12 | 430 | AR (KH)
4|57 |7#IN b # 56.0 A (2) | NBRA
L:ELANY kN B:OXT1—% il SEERE
3 _ i 3 | WRR 1:16.4 1312 | 38.5| — 8 436 | =IRERME (4ViA)
5 2 hi/F—% 56.0 (74%) (1) | 1AAE
L:BALINT Ry 7Z B:xFIT7U—X pAarie ]
o= N B :16. - . - BEER (KH)
6 o| K514 it 3 o 1(116)6 10-11 | 38.8 4 42(1)2) ;‘%ﬁl%ﬁé
R:YZZRE—3IZRE— B:ACYaIEAL RS AEXT—T
= B3 | BEHE 1:16.8 4-4 0.1 — 6 406 | IBEH=RE (KH)
7 4| MF/ZT 54.0 (' 1/4) (45) | FIEBREF
RejrrtrXx B:5714XHX~ ZE RSB
L K o3 | EHEER 1:16.8 3-3 40.4| — 5 452 | EHE— (KH)
8 || 12| /YL E 5.0 (hF) o |EEEE
R:T—ILRI—-X B:LA>K=YyTIL =L
; 43 | )R 1:16.9 2-2 405 — 3 436 | 1BAKE ()
9|7 11|/~ F7h 54.0 (172 e | EEBE
LT TANNVE B:XvT7)—h=7 J—HrTy—LA
3 2 A 1 7. = . — EFRRE (K#H)
10 5| NTVRTIWZA KT >3 i 1(11/72>o 7-7 39.7 9 (4_45 R
LTIV TFINTL2 BiF—HU—-51L4 IS
. 4 3 | BLS 1:17.0 11-14 39.1| — 11 434 | FEAKRERB (KH)
10111 kN—t>4a K 54.0 g€ (-13) 1|:J§7(5En
Rib—trTrbL BiHUZavH HREM IXFT7—L
S, = 4 3 | EEX 1:17.1 8-9 39.5| — 10 | 440 |/NFFLE (i)
12/8|14| YH=-> v 74 54.0 (172) (2 |BEEBH=
RTITIIRTLA B:T7ATAKRE e AR
o i 3 | MEEE 1:17.5 9-10 39.8| — 14 | 406 | ARIZEE (KH)
13Ele | P>V A *50.0° @ o | W E<Ea-kL-ya
L:hE=Z23—F— B:RE2—7—F MIEHS
> ; : 4 3 | RHESB 1:18.1 14-13 | 39.9| — 7 | 466 | LHER (KH#)
14 3 HAHYXFT—-ILK 56.0 3) (-3) KA
R:BALINT Ry TR BTA x0T A B IE—
® 1 —F—@EBIERL
13—7-—
2a=5"=
Jol=5r= 10,11,12,4,13,7,5,14,6,9,1,8,2,3
43—+ — 10,11,12,4,13,7,5,8,14,6,9,2,3,1
[ N5
B 13 210H 714K 10-13 190M e E 6-8 230 JEE 8-10-13 9,410/
B B 13 120M 8-13 2,860 e B 8-6 590M JEE 13-10-8 23,380
10 120 8-10 3,820H B = 10-13 340M
8 970M B H 13-10 730M

ARICOVWTRDTEEERROODE. TR LIV,




